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1. 9% E@RT a9 3Mdest # Y&dd fhU 70 He-am8a 3e1 & MR W 39 fof@a qdem & foo
Wﬁmw%tﬁmh#m#mrm%mmﬁmmﬁmaﬁ
@A ¢l 3Rt 3eafiar arediehd @ Smea|

You have been called for the written test based on the online data furnished by you in the web application. If you have
wrongly entered in the web or you do not possess the required qualification as per our advertisement, your candidature will
be rejected.

2. oy It WSS F wyw wor B Aewar gred @ B ¢ ot PRl war F suftva wer iq 9w
a8l gl
If you have not qualified the primary stage of CTET, you are not eligible to attend the written test.

3. odteT gfear & faderss v 3ufFafa F & smuet gla-ee W gFaARR =T a1Re)

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

4, 997 60 Ul & I YeA-GIEAH & T H g
The Question paper is in the form of Question Booklet with 60 questions.

5. 9ol & 3ca¥ for@el & foT 37609 Yoaar T SATTam|

A separate answer sheet will be provided for answering the Questions.

6. FIW &AW Fid # Al Fea-Gasr Ao F5 (), el gRedsr § R v vue 7 fowen @ik
Question booklet series code (A) printed on the right hand top corner should be written on the answer sheet in
the place prowded



7.

10.

1.

12,

»13.

14.

7e g ARG Aeadr & 3R W), ARG 9lem 9’ 3caki & 9y s § A el e @
FId U HERTY T & B )

The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.

fafad afieT & T 9 Fae Alel/dTal TART & did 95e 9 & 39T HT= g

You have to use only blue/black ink ball point pen for the written test.

faf@a qlien Terarel gl & 3T YR, Floipoed, HAGSA Bl TN Il FAaeI S I, oS-
T, dAle A o dr 3egafa 78t wel

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed inside the
written test hall.

TH 99T & AU 3aF 3cal Ted 3ok AT S| I 3cal & fAU S99 3% 18t far Jroem)

Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong answers.

e geall & 3cax «ig RAr &, 39 Sla#Ar & QT = afgel By o Fiaw = Y [ ==
EEGUISIIRY

Columns of unanswered questions should be crossed. No column should be left unfilled.

Tt F dre, 3Tl F U SeaR-gieasr et w dta Al w3 gee-gqRaer seerff e
uTe 1@ Hhd gl

After the examination, the candidate should handover the Answer Sheet to the invigilator and the question booklet can be
retained by the candidate.

T{IeT & GUH G & aNA ATt @ adeT ga s i IAfT 73 g

Candidates are not permitted to leave the examination hall during the first hour of the examination.

AT Y WETHR 8] THNEE/EIA-3 et & fow & fafla afem garg s )

The written test is conducted only to shortlist/screen-in the candidates for interview.
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%ﬁﬁﬁa—mssém@ﬁﬁmﬁ%ﬁm%?
(T) g (&) g9 (&) =g () Fawer

Which among the following is the official Mascot of the 35" National Games ?
(A) Appu (B) Panpan (C) Ammu (D) Winta

Sﬂwaﬁwwagmmmtﬂarﬁmé‘rﬁmaswﬁmﬁﬁ;ﬁq
forar Tl @ wle 87

() =gl waea safsar () Faafd 9 gere
'(w)mmaﬁa;sﬁamw?r. (3 = FER

Which of the following former Chief Justice of India has been recently appointed as the
Governor of Keraia ? ‘
(A) Justice SH Kapadia (B) Justice P.Sathasivam

(C) Justice KG Balakrishnan (D) Justice Kabir

B I, 3B H19 aw Qe & 9 #amr arar £72
(W #AT 8 (M &S 18 (F) S 8 (D) = 18

Every year, World Red Cross Day is observed on
(A) May 8 (B) May 18 (C) June 8 (D) June 18

-8 IITA0T F F9T Bles ASed IS Far oar &7
(T) 3aeelr (&) Faq (I fovww () Raemn

Which mountain range is known as Young Fold mountain Range ?
(A) Aravalli (B) Satpura (C) Vindhyan (D) Himalayas

(T) et (o) dehra g5 (F) Jo das  (3N) ARAeEe

Which of the following is a natural magnet ?
(A) Bar Magnet  (B) Magnetic Needle ( C) Ring Magnet (D) Magnetite

.................. I adasd AT Fr gfag a=wdr B
(U) 3agafy () sfges @ (@) dgway (@) e

The gland that secretes growth hormone is, ‘
(A) Thyroid gland (B) Adrenal gland  (C) Pituitary gland (D) Pancreas

(V) 3eats (&) SAERY (@) aify (3 aRem
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The bull in our National Emblem stands for
(A) Goodness (B) Honesty (C) Peace (D) Hard work

(tr)m‘i?mﬁ (@) TR gfAfa (@) T Jama (@) @ #Asa

In a village, civic amenities are provided by the

(A) Municpal Corporation (B) Municpal Committee
(C) Gram Panchayat (D) Board of Directors
FETETAYLH T TET AR oo o §AT|

(T) Tootar () =reErar  (€) =er  (SN) Jer

The shore temple of Mahabalipuram was built by
(A) Pallavas  (B) Chalukyas (C) Cholas (D) Guptas

FAQ is which organisation of UN.
(A) Food and Arms (B) Films and Agriculture
(C) Farm and Association _ (D) Food and Agriculture
3der 10, 1919 1 HlA-# e vfed g& 492
(v) T@emha AEes () SifaaadrendnT goarehs (A1) &3 A (3) Tar &

. o
The incident that occurred on the 10" of April 1919
(A) Khilafat movement (B) Jalianwalabagh massacre
(C) Dandi March (D) Abolition of Sati
AT Co T T |1 - ) SO FEd Bl

(@) Bfas (@) e (@) aRs (@) SR

The heat zone between the tropics is called
(A) Frigid (B) Temperate  (C) Torrid (D) Polar

(©) FH ¥ gFa gl () FdSfAn I (@) |WO(3) geanrR

The most notable buildings found at Harappa
(A) Pillared Halls  (B) Public Bath  (C) Houses (D ) Granaries

ay 2014 # ¢ifd & Alded [EPR SHaadrel JRAT HieA T?
(T) Felrem gEGS () ST &l d TAS (&) AT B (SN) Shormer Feard
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The Indian who won the Nobel Peace Prize for 2014,
(A) MalalaYousafzai (B) Dr CV Raman (C) AmartyaSen (D) KailashSatyarthi

15) T “¥RT asrﬁz’rﬁa“mﬁaﬁa‘?
(U) § AMere (M) v A (@) O F 3GR (@) T vE @i

"Metro Man 6f India" refers to
(A) E.Sreedharan (B) N.Srinivasan (C) PKlyengar (D) M.S.Swaminathan

16)  TIgHSH H HiA-AT I R 9= ST &7
(T) 3iieFesier () et ST3ffararss (A EEgie (3 Asee

Which gas is most abundant in atmosphere ?
(A) Oxygen (B) Carbon dioxide (C) Hydrogen (D) Nitrogen

17) RABga amaa & oo T 3TeIITeT FeAT AR

(V) 3ty wlem () Aarfae ofer () gfac oder (3 qdgEes o

Remedial teaching must follow
(A) Achievementtest  (B) Diagnostic test  (C) Unit test (D) Prognostic test

18) saﬁﬁﬁa-m%mf?ﬁrwﬁfemwﬁaﬁaﬁﬁ@rmﬁaﬁﬂﬁ%?
(@) @HrEe Remr (@) Rweet & T R (@) v Rew @)

ordlcrs et

Which term is not related to the education of differently abled children

(A) Inclusive Education (B) Integrated Education of the Disabled
(C) Special Education (D) Creative Education

19) mﬁqﬁﬁmﬂsmﬁ@waﬁraﬁmﬁr@mmmw
(T) FeelieRor () WO IRadT () T qoer  (3) TISESHIOT Ear

Teaching skill that helps a teacher in managing the response of the students is
(A) Reinforcement  (B) Stimulus variation (C) Probing questions (D) Explaining

20) 39 Rl el #F wor I § 3R FF @A giaren ¥ wE o & @ 3mar &k
mmﬁlﬁarﬁaﬂwﬁrm%lwmmmaﬁé:aﬁmam
FN?
(U)saﬁ&ﬁwﬁ‘mmaﬁémﬂaﬁé?wmﬂﬁmi
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(ST) ST & HROT 9T g S|

(@) 3fd vl o @ gge 38 o @ H9e Rufa T S &1 3EE S
(3N) O H yAYU T AT AT AR FH FACA A W I X F A FH
HROT ST

You are teaching in a class and it is almost the end of the session. A student comes late and
seeks your permission to enter the class. Being a good teacher, what will you do?
"~ (A) Not permit the student, as it makes little sense coming to class so late.
(B) Getannoyed, as you are disturbed
(C) Ask the student to explain his/her position before you take an appropriate decision
(D) Allow the student to enter and ask him/her the reasons for being so late when the class:

gets over.

§H A FHiT-HT GTHAT WA W Teh Tl I FolellcAD HAT STTIT?

(V) 3=a d=di § T Ag-faurR &
(&) GIRT T ST FT FeATHT FA
(@) Fra-RER ¥ Rt ale e
() X Tl & g H AgT 3T

A child is considered creative if he/she is capable of:
(A) Better thinking than other children

(B) Evaluating what other say

(C) Divergent Ways of thinking

(D) Not accepting what everyone else says

fArfaf@a # & Fia-a1 ve wds sregas & gfafde A ST oawar g2
(v) Tafdea oaRfEufaal 7 319 9er$ T FaRA/TgFd e HiT &7
(8) 3TT FIET HT HILUROT

(@) T 7 S A

(@) ST FT ITaIFAT 81, TFEIOT A I &THAT

Which of the following can be taken as a reflection of a meaningful learning?
(A) The capability of transferring/using Ieérning in different situations

(B) A high degree of retention

(C) A good score in the examination

(D) The ability to recall as and when needed
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YT #r gefat & 1T gl e, q fAdest & T S1Er Jrdr gl
() 1At & FRoT Y@ & TR (@) TH & FROT YA F FHT
(@) 35 & FROT ¥l F FFpoal () 33 & FROT @ & AEIR

Gaps are left in railway tracks to take care of
(A) Expansion of rails due to heat (B) Contraction of rails due to heat
(C) Contraction of rails due to coldness (D) Expansion of rails due to coldness

STl &l pH Hed fohelalr 87

The pH value of water is
(AYO (BY3 (C) 7 (D) 10

HI-TE0T T A £

(U) ST qedT T BT Ge W usdr &l

@) S Tig H BT gedr | g gl

(&) Ste g gIST AT =@ig & S F e gl
(&) o9 ¢ FF aUT G & A H 95T &

A solar eclipse occurs when,

(A) the Earth’s shadow falls on the Moon

(B) the Moon’s shadow falls on the Earth

(C) the Earth Moves between the Sun and the Moon
(D) the Venus is between the Sun and the Earth

Tfataa & @ la-ar @feer &1 3eEIur 78 &2
(W) E_T (M) e (E) | (3 FHE

Which of the following is not an example of a mineral ?
(A) Diamond (B) Wood (C) Gold (D) Salt

ew FA-Y e ot ¥ &2
(T) TIAUTEY (&) Teare (@) FERAehT (3) IHAR

Frogs belong to which animal group ?
(A) Mammals (B) Reptiles (C) Invertebrates (D) Amphibians

JTFdIeeT IRged # FRRT HATH! T H IIT AT ol a0 ... gl
(@) Ff () e (@) FERithe (@) SRR
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A red pigment found in vertebrate blood that functions in oxygen transport is
(A) Melanin (B) Melatonin (C) Chlorophyll (D) Haemoglobin

20) ARETHA FT IAF oo gl

The symbol of Beryllium is
(A) By (B)yBe (C)Br (D) B

30) AT AN T FED a9 g3 FiA-A 87
(@) PR () egeRE (&) g () Fler §5er

29

Which is the longest bone in human body?
(A) Femur (B) Humerus (C) Spinal Cord (D) Calf bone

31) wEhHes #7 gr &7
(v) g ¥ W7 1 afeleprar F TR AT
(&) SR 0TI HT HEROT
(@) etz FA W7 Tl H Fhg
(@) Hret garT Tt # HedeT

Pollination is _
(A) Transfer of Pollen from anther to stigma
(B) Germination of Pollen grains

(C) Growth of Pollen tube in ovule

(D) Visiting flowers by insects

32) R 9¥q W Tearel HCAHS! T B e Fed 8l
(T) Fowar () @ (@) geaA (3N MR

The gravitational force acting on an object is called its
(A) Density (B) Momentum (C) Mass (D) Weight

33) mmm@mmﬁ ................... FRA ¢
(@) eamear () PR B (@) Ty & R (3 At e

The absorption of ink by blotting paper involves,
(A) Viscosity of ink (B) Capillary action (C) Diffusion of Ink (D) Siphon action

34) T AW .o #$T gs gl
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Light Year is a unit of

(A) Time (B) Distance (C) Light (D) Intensity of Light
35) g fsTor & AT Aok il 8, FIH

(T) 39 HaFd goEc gl Bl

(o) oRHA] WEET B &

(@) 3AFT TeAATH 3T el &l
(@) JeAehT elAieh =T gial &

Metals are good conductors of electricity because
(A) They contain free electrons

(B) The atoms are tightly packed

(C) They have high melting point

(D) They have low melting point

36) fadl 9 FAY & 3feX g aTel gea @ HROT HeA-A1 A &7
(T) o () FoT SE3TFaEs  (H) FeA AAFAES EYGIEAED]

The gas responsible for suffocation in a closed room is _
(A) Oxygen (B) Carbon dioxide (C) Carbon monoxide (D) Nitrogen

¥ ) & FFT 9T @ FT GOT §AT @A & G0 S g FT waer Far Srar g7 |
(@) sfedeet (@) afoma (@) asce (3 g

The gas used in packaging to keep the packaged food fresh is,
(A) Oxygen (B) Helium (C) Nitrogen (D) Hydrogen

38) frafaf@a & vaafas aRads sia-ar 87 .
(¥) TF &Y F7 geeAT (@) I F RueEr (@) v & g9 F R (@) I

T SfeRar

Which of these is a chemical change ?
(A) Breaking of acup  (B) Melting of ice (C) Changing of vapour to liquid
(D) Baking of cake

39) UAUATS F YUY gATl
(v) W eawe AMa ifdasr
(@) BBW TFECT AR HY dldasm



(@) R Tere AAA oF
(@) g e AN ol

HTML stands for

(A) Hyper Text Machine Language
'(B) Hyper Text Mark up Language
(C) Hyper Text Machine Lab

(D) Higher Text Machine Lab

40) 20 @ ST F O foram Sier 87

Binary representation of 20 is,

(A) 011101 (B) 10100  (C) 11001 (D) 10010
41 1GB=... MB
Az B2 ©2® o) 2%

42) T @ FA-AT gAY Bamw 7@ &7
() e (@) #T a5 (@) @y (3 AEE

Which of the following is not an input device ?
(A) Joystick (B) Key Board (C) CPU (D) Mouse

43) The ----——-—--- of crops on the same land can cause soil erosion.
(A) rotate (B) rotating (C) rotation (D) rotated
44) The -—--e-eeem- - of the water supply can cause infectious diseases.

(A) conservation (B) contamination (C) concentration (D) conclusion

45) e every child in the school passed the swimming test.
(A) nearly (B) nextto (C) near to (D) near of

46) Which of the following is an abstract noun?
(A) Slave (B) Infant (C) England (D) Safety

47) Speak louder. | can ------ hear you. Choose the most appropriate adverb.
(A) Softly (B} Certainly (C) Hardly (D) None of these

48) Many railway lines link Delhi with other parts of the Country. The words in italics show.

(A) Adverb (B) Subject (C) Adjective (D) Predicate

8 A



49)

50)

51)

52)

53)

54)

55)

56)

| thought | had done well in the examination, but Smitha did good. Choose the correct
adverb for good.

(A) Best (B) Well (C) Better (D) Worst

TAA #H, 3R, FHa AR el f Fo g 80 A gl N I Uge Iofhr

The present total age of Amar, Akbar and Antony is 80 years. What was the total age 3
years ago ?

(A) 71 a¥/Years (B) 72 a¥/years (C) 74 T¥/years (D)77 a¥/years
HEAF 25673 # 6 F T TS oo g ‘

The face value of 6 in the numeral 25673 is,

(A) 70 (B) 600 (C) 6 (D) 60

STad 01, 1996 & HHAR T JaaLr 10, 1997 =Y TTAE &1 HiA-ar feaT grm?
(@ FEER (@) gwar (@) FHIR (3N) TR "

January 1%1996 was a Monday. Which day of the week would have been January 10" 1997 ?

(A) Sunday (B) Friday (C) Monday (D) Wednesday

(1244 +2)=(8X3) =
A1 (B)-1 (C)-3 (D) 3

W%ﬁra?wéﬁrwmﬁamm.s%m Tl UF AT oF 39 e H ot
Y I3, o R 39.5 fR.am. &1 39 e & o & Jad "R 39 fhaar g2

The average weight of 19 students in a class is 41.5 Kg. A new student of weight 39.5
joined the class. What is the average weight of students of the class ?

(A) 414Kg (B) 40.5Kg (C) 415Kg (D) 40.4 Kg

2 Sin 15° Cos 15°8 HFT ..oovvvrenenns gl
The Value of 2 Sin 15° Cos 15% s,

V3
(A0 (B) 1 (C) 112(B)~"

TS & gEe 11.30 S A HUA AR YE A IR oeT T ggTe & fAv 220
e @ I #1| F fhaa 99 39 FET G 95 gl
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Raju started his travel at 11.30 AM and travelled for 220 minutes to reach his destination.
When did he reach his destination ?

(A)13.50 AM  (B) 13.50 PM (C) 3.10AM (D) 3.10 PM

57) e @ S8 fdg god & Gl HeT # 0T 87

Which of these points lies in 3" Quadrant?
(A)(-6,6) (B)(6-6) (C)(-6,-6) (D)(6, 6)

58) U Al I #R 5 foham 50 am. IR Uw Fd & #4R 3 fh.am 450 am. g1 A &

HR FHT & AR @ e 3118 &7 .g

Weight of a table is 5 Kg 50 gm and weight of a chair is 3 Kg 450 gm. The weight of the
table is more than that of the chair by

(A) 1 KgB00 gm(B) 2 Kg50gm (C) 2Kg400gm (D)8 Kg 500 gm

59)  foRdT 3TRET g &
2# 5 = 243+4+5+6
243 =2+3+4
542 =5+6 & &7 F feifia frar s @
ar 6 g4 fraam gem?

If an Operator # is defined as

245 =2+3+4+5+6

243 =2+3+4
542 =5+6

What will be 6 # 4

(A) 24 (B) 39 (C)0 (D) 30

60) S gg Ve Hle-ar ¥ S R TsT I B gRIT A& Far?
Which set does not represent 3 sides of a right triangle?

(A) 8,15,17 (B) 7,12,15 (C) 3,4,5 (D) 5,12, 13

Rk R kkAk
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